A B U 2 #$ B OB
ITEZEDEW AL R BRI BR BB B R R SR ST E R
H L F £ AT ER
A # #®1T B S 64 68 138
A # F PR B KTE 2028E=E
1 AHLEAE (B4:[)
I¥50| BELLEOBSXE (A 2@ (B K E) — s BILEOBS EALSHE
£ B % K Z10 %206 mRE (Fih=) X 1% % (BEAH)
B #14/\ BEXE
SEE W RE 7,500,000
HRAeH BMaLHILELY BEEEER = s
- - 7,000,000 BSREREOEMADE
e ThY. BN TR AR
B Fhedd SRR B 7,160,000 MTEHEEHRERRTE
B R, BT RS
;r: “‘Ef"*’é;%* T;;** b 8,490,000 MOOLTBREESLE
AATESTEM it RABER |1, 0 g ;%?ﬂﬁgﬁ%%aﬂ
goaco7s | B8 —1H 7,270,000 *;;‘%Em”“’;;;"fggﬁ 7,700,000
A 71N
[EE&H LD

1 TPEMEIE. HERKEZOEE TR
2 TAHZEHIE. ARLENRBEL RN ALEEHCHERIRED R TREH
3 DEIEHBHIF. ARLENRBELO-ZNALELEDI1000D110/THE T LB CHERAADREE) TLHE




(B {7:A)

2 ZHEE
ZHOMFEAHAOD I # - N
Z % B |8 | BEXELHER| ZHLE - ISE0BF T 5 = B = WERWHEST RS
N s 2 ¥ F= = <'®s 1+ 5 E ® B @
£ A B/ B H
MBS EE ARt  L=430m
BB EEMERET  L=430m
=49 av 7R N=13
FHM6FEEA17H 7,700,000 | #%a646 8178 |#5s4128278 E\ﬂ?ﬁ op R[S
T E #® 0o I #H
EE 2 H A X E & 8 — I E%F 0B T x % i = x =B bl 22}
& F|5x &
£ A B|E B B
0
BRRH REALYILELY ERERF F BE HE oI H
T E Z #H A EEﬁ@E% 7= mI$%®*§ﬁi T X % k2 x B b1 2}
= = T
r & K Rz # A BlE B B
LR
0
T E#® oI #H
T E R H A FE & 8 — I B 0B E -3 % -3 i k3 b 22}
& F|5E 73
£ B B/ A H
0
T B % 0O I M
T E 2 H A TR & 8 — IET% 0B T = % # = I 3 b1 H
& F|5E &
£ B H|E A H
0]
[R#EEDTE]
IEELEE L. BWRNELOEBHFBLZREL. (O ONTEEERORHNBEEILH TS,




